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3. Covert the following facts intc equivalent predicate

i
ii.
fil.
iv.
V.
Vi.

John likes all kinds of food.

Apples are food.

Chiclezn is food.

Anything anyone eats and isn’t killed by is food.
Bill =ats peanuts ard is still alive

Sue sats everything Bill eats.

3)

4. Consider the gawe tree shcwn below. The top node is 2 max node. The labels
on the arcs are he moves. Ths numbers in the bottom layer are the values of
the different outcomes of the gams to the max player.

a. What is ths value of the game to the max player?
b. What first move should t1e max player make?
¢. Assuming the max player makes that move, what is the best next move

for the min player, assuming that this is the entire game tree?

d. Using alpha-beta pruning, consider the nodes from right to left, which

nodes are cut off? Circle the nodes that are not examined.

fax

Rdin

fax
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5. Consider the state space graph shown. A is the start state and G is the goal
state. The costs for each edge are shown on the graph. Each edge can be
traversed in both directions. Note that the heuristic hl is consistent but the
heuristic h2 is nct consistent.

PT.O

Node |hl |h2
A 9.5 |10
B g 12
C 8 10
D 7 8
E 1.5 |1
F 4 145
G 1] 0

A.For each of the following graph search strategies (do not answer for tree
search), mark which, if any, of the listed paths it could return. Note that for
some search strategies the specific path returned might depend on tie-
breaking behavior. In any such cases, make sure to mark all paths that

could be returned under some tie-breaking scheme. 6)
Search Algorithm A-B-D-G | A-C-D-G | A-B-C-D-E-G
Depth first search

Breadth first search

A¥ search with heuristic h1

A* search with heuristic h2

B. Suppose you are completing the new heuristic function h3 shown below.
All the values are excepted except h3{B). What values of h3 (B) will cause
A* graph search to expand node A, tken node C, then node B, thennode D
in order? 3)

Node |A |BI|C|DIE IF |G
h3 10{719 (71151450

#* A1l the mm&?*
-End-



